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Directions for the following 8 (eight) |
items :

Bead vach uf the following two passages
and answer the iems that follow Your
answwers to these ttems should be based on
the passages only. I

Passage-1 ’
For achieving inclusive growth
there s a critical need to rethink the role

of the State The early dcbate among

economists about the size of the
Government can be misleading. The need |
of the hour is to have an enahling:
Government. India is too large and"
complex a nation for the State to be able |
to deliver all that is needed. Asking the|
Government to produce all the essential |
goeds, create all the necessary jobs, and il.
keep a curb on the prices of all goods is to |
iead to a large cumbersome buruaucracy;

and widespread corruption. i

The aim must be to stay with thez
objective of inclusive growth that was laid i
down by the founding fathers of thei
nation and also to take a more modern|
view of what the State can realistically

deliver.

This is what leads to the idea of an
enabling State, that is, a Government that
does not try to directly deliver to the
citizens everything that they need.
Instead, it {1} creates an enabling ethos

for the market so that individual

P-PFC.L-CG.B {2 - X))

enterprise can flourish and citizens can,
for the most part, provide for the needs
of onc another, and {2; steps in io help
those who do not manage to do well for
themselves, for there will always be
individuals, no matter what the system,
who need support and help. Hence we
need a GGovernment that, when it comes
to the marhket, sets effective,
incentive-compatible rules and remains on
the sidelines with minimal interference.
and, at the same time, plays an important
role in directly helping the poor by
ensuring that they get basic education
and health services and receive adequate

nutrition and food.

According to the passage :

1. The objective of inclusive growth
was laid down by the founding
fathers of the nation.

2. Need of the hour is to have an

enabling Government.

3. Tbhe Government should engage in
maximum interference in  market
processes.

4. There is a need to change the size of

the Government.

Which of the statements given above are
correct ?

(a) ! and 2 only
(b: 2 and 3 only
(c; 1 and 4 only
(di 1,2, 3 and 4
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According to the passage, the strategy
of inclusive growth can be effected by
focussing on

(a; Meeting all the needs of every
citizen 1n the country,

(b) Increasing the regulations over the :
manufacturing sector.

{¢; Controlbng the distribution of
manufactured goods.

(d} Delivery of the basic services to the |
deprived sections of the society.
What constitutes an enabling
Government ? :

1. A large bureaucracy.

2. lmplementation of welfare
programmes through
representatives,

3. Creating an ethos that helps

individual enterprise.

4.  Providing resources to thouse who
are underprivileged.

5. Offering direct help to the poor
regarding basic services.

Select the correct answer from the codes
given below

ta?
b}
tc; 3, 4 and 5 only
(d) 1,2 3 4and5

. 2 and 3 only
4 and 5 only

{ 4

X))

Why is the State unable to deliver “a!l
that is needed” ?

1. It does not have sufficicit bureaucracy.
2. It does not promote: inclusive growth.

Select the correct answer from the codes
given below :

{a) 1 only

{b) 2 only

{c; Both 1 and 2

(d) Neither 1 nor 2

What is the essentiai message being

conveyed by the author of the passage ?

2j  The objectives of inclusive growth
laid down by the founding fathers of
the nation should be remembered.

(b) The Government reeds to make

available more schouols and health

Services.

{c}  The Government needs tn establish
markets and industries to meet the
needs of the poor strista of the society

{d) There is a need to rethink the role of
the State in  uachieving inclusive
growth.

Passage-2

The concept of ‘creative society’ refors
to a phase of developmernt ot & society in
which a large number of potential
contradictions hecome articulate and
active. This is most evident when
oppressed social gruups get politically
mobilised and demand their rights. The
upsurge of the peasanrts and tribals, the
movements for regional autonomy and
self-determination, the environmental
movements, and the women’s movements
in the developing countries are signs of
emergence  of  creative socety  in
contemporary times. The forms of social
movements and their mtensity may vary
from country to country and place to place
within & country But the very presence of
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movements for social transformation in
various spheres of a society indicates the
emergence of a creative society in a
country.

6. What does the author imply by “creative
society™ ?

1. A society where diverse art forms
and literary writings seek incentive.

2. A society where social inequalities
are accepted as the norm.

3. A society where a large number of
contradictions are recognised.

4. A society where the exploited and
the oppressed groups grow conscious
of their buman rights and
upliftment.

Select the correct answer using the codes

given below :

(a; 1,2 and 3

(b} 4 only

{c} 3 and 4

(d) 2 and 4

7. What according to the passage are the
manifestations of social movements ?

1. Aggressiveness and being incendiary.

2. Instigation by external forces.

3. Quest for social equality and individual
freedom.

4. Urge for granting privileges and
self-respect to disparaged sections of
the society,

Select the correct answer using the codes

given below :

{a} 1 and 3 only

(b) 2 and 4 only

(¢) 3 and 4 only

(d) 1,2, 3and 4

P-PFC-L-CGJB

{6 - X))

With reference to the passage, consider
the following statements -

1. To be
essential to have a variety of social

a creative society, it 1is

movements.

2, To
imperative  to

be a creative society, it 1is

have  potential

contradictions and conflicts.

Which of the statements given above
is/are correct ?

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

Consider the following three statements :

1.  Only students can participate in the
race.

2. Some participants in the race are
girls.

3. All girl participants in the race are
invited for coaching.

Which one of the following conclusions
can be drawn from the above
statements ?

(a) All participants in the race are
invited for coaching.

(b} All students are invited for
coaching,

{c) All participants in the race are
students.

(d) None of the statements {a), (b) and
(c) given above is correct.




¥ A0 & | 37 ISP e & o9 3R
IS dgar sen-Fem oo F 3Rk B
o & Ferr-3rem fewal o fre-Re @ wedt
2| fog v & fAfm o & amfse
RYT @ & e 39 et & uffa
A, 2§ gomEe 9w & anfaufe @
's'ﬁlﬁaﬂ?'ﬁ‘s"l

Hmmaﬁmsﬁwgl
3. UF 9HIS @l fqend we ¥ safie
7 fore s & |

4, Eﬂswmsﬂﬁﬁaﬁisﬁﬁaa@r

¥ 30 AHATSER! 0d I & oa-T
ferfea B & |1

I fee e ge 9 werEd § we) IR g
(@) 1,23R 3

(b) &ad 4

(c) 33k 4

@ 23R4

dEE F FER WEE e o
sfirefedl dF-BF @ & ?

1. 3Nemear AR @S B |

2. I §A1 & GRT IHART S |

3. s qumar 3k daftrs wdzan
‘ o aemer |

4., TS & FaAta at & fdfieR
3R IR WBH & B AE |

TSI g § go-eid an1st & anfauig | 8.

oy & daf 7, Frafofas s ® faar

BT : |

1. Yol 9ue s & foe, fafda
mésvmﬁasmaﬁﬁasrm'

fard 2 |

2. AT TS ¥ & e, dwaE
rafRrelt 3k wust & B srcuaTaE
-

e § ¥ IR T A
(a) ®ad 1 |
(b) ®HaF 2

(© 13Kk 224

L@ FH1IRFTD 2

o A e ¢ e B

1. dis ¥ Faw o & wm A §ad |

2. ds # wm o Tl A 3o aferT & |

3. dg F wm oA A Wb e
yfernfira @ afRramT g geman T 2 |

s weEl A FafoRea @S- v Frad
frrtem s 9war & ?

(a) A5 & ¥ wfrwfidi & wfeor g
geiran T § |

(b) WY BrET B wikreror &g gemrm @ |

I v T ge &1 W a} wE IR gie
(a) ¥aer 13R 3 - (c) s & g ufosmh o € |
(b) Faet 23R 4 ‘ o
) dadTsalka (d) 339G (a), (b) 3R (c) T F ¥ B
(@ 1,233R4 & TR |
P-PFC-L-CGJB (7 - X)




Directions for the following 2 (two) items :

the codes given below each set of

statements :

10. Examine the following statements :

1. Al animals are carnivorous.

2. Some animals are not carnivorous.

3. Animals are not carnivorous.

4. Some animals are carnivorous.

Codes :

fa) 1 and 3

{(b) 1 and 2

{c) 2and3

{d) 3 and 4

11. Examine the following statements :

1. All trains are run by diesel engine.

2. Some trains are run by diesel
engine,

3. No train is run by diesel engine.
Some trains are not run by diesel
engine,

Codes :

(a) 1 and 2

(b) 2 and 3

(c}) 1 and 3

{d) 1 and 4

12. By selling 15 mangoes, a fruit vendor
recovers the cost price of 20 mangoes.

What is the profit percentage of the fruit

vendor ?7

{a) 20-50%

(b) 30-67%

{c) 33-33%

(d) 35-40%

P-PFC-L-CGJB

Each of the following two items consists of
four statements., Of these four statements,
twe cannot both be true, but both can be
false. Study the statements carefully and |
identify the two that satisfy the above
condition. Select the correct answer using

13.

14.

15.

16.

{8 - X)

The average of marks of 13 papers is 40.
The average of marks of the first 7 papers
is 42 and that of the last 7 papers is 35.

What are the marks of the seventh
paper ?
(a) 24
(by 21
(c) 19
(d) 17

Amit takes twice as much as Aryan and
thrice as much as Raman to finish a piece
of work. They all finish the work in one
day. What is the time taken by Amit to
finish the work ?

(a) 2 days
(b) 3 days
(¢) 4 days
(d) 6 days

The present population of a village is
5,600, If the number of males increases
by 11% and the number of females
increases by 20%, then the population
will become 6,330. What is the present
population of females in the village ?

(a) 2,000
(b) 2,500
(c) 3,000
(dy 3,500

Two numbers X and Y are respectively
20% and 28% less than a third number Z.
By what percentage is the number Y less
than the number X ?

{(a) 7%
(b) 8%
{c) 9%
{(d) 10%
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requirements of some of the goods and

serv.ces, particularly food, fresh water,
timber, fibre and fuel. These modifications
have contributed substantially to human

well being and economic development. The

benefits have not been equally distributed.
Some people have actually been harmed |

greatly modified the ;
Earth’s ecosystems to meet their increased |

Directions for the following 6 (six) items :|17. With reference to the passage, consider
Read each of the following two passages the following statgments.
and answer the items that follow. Your B & h lati h
answers to these items should be based on é{pan‘ mgg‘f tuma.n population has  an
the passages only, adverse ellect on
1. Spiritual fulfilment
Passage-1 2.  Aesthetic enjoyment
Ecosystems provide people with a 3. Potable fresh water
variety of goods and services; food, clean 4, Production of food and fibre
wai;)e;', clean air, Ilf'lood cunt,roll, soil 5. Biodiversity
ligati ination, Jimat ' ‘
stabl IZ? on, ) -po 1hation climate Which of the statements given above are
regulation, spiritual fulfilment and correct 7
aesthetic enjoyment, to name _]-11513 a few. ; @) 1,2 and 3 only
Most of these benefits either are |
irreplaceable or the technology necessary | {b) 2,4 and 5 only
to replace them is prohibitively expensive.
For example, potable fresh water can be {¢) 3 and 5 only
rovided by desalinating sca-water, but
P d £ (d 1,2 8 4andS5
only at great cost.
The rapidly expanding human
population has 18. The passage mentions that “some people

have actually been harmed by these
changes”. What does it imply ?

1.  The rapid expansion of population
has adversely affected some people.

2. Sufficient efforts have not been

made to increase the production of
food and fibre.

3. In the short term some people may
be harmed, but in the long term

by these changes. Moreover, short-term everyone will_ benefit from
increases in some ecosystem goods and modifications  in  the  Earth’s
ecosystems.

services have come at the cost of the
long-term degradation of others. For
example, efforts to increase the production

Which of the staiements given above
is/are correct ?

of food and fibre have decreased the (a) 1 only

ability of some ecosystems to provide by 2

clean water, regulate flooding and support (¢ 1and3

biodiversity. (d) None of the statements given above

( 10 - X )
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With reference to the passage, consider
the following statements ;

i I* is imperative
Karth's  ecosystems for
being of mankind.

2. Technology can never replace all the

goods and services provided by
ecosystemas.
Which of the statements given above
18/are correct ?
ra; | only
th) 2 only

¢+ Both | and 2
tdy  Weither 1 nor 2

Passage-2
A moral act must be our own act; must
~pring trom our own will If we act
mechanically. there is no moral content in
our act. Such action would be moral, if we
thick it proper to act like a machine and
tor, in

do so doing so,

discrimunation. We should bear in mind

we use our

the distinction between acting
mechanically and acting intentionally. It
may be moral of a king to pardon a culprit. i
But the messenger carrying out the order
of pardon plays only a mechanical part in
the king's moral act. But if the messenger
were to cartry out the king’s order
considerig it to be his duty, his action
would be a moral one. How can a man |
untderstand morality who does cot use his
own intelligence and power of thought, but
lets himself be swept along like a log of
wood by a current ? Sometimes a man
defies convention and acts on his own with

2 view to absolute good.

to  modify the
the well

20.

21.

Which of the following statements best
describe/describes the thought of the
writer ?

1. A moral act calls for using our

discretion.

2. Man should
immediately

react toc a situation

3. Man must do his duty.

4. Man should be able to
convention in order Lo be moral.

defy

Select the correct answer from the codes
given below .

fa}) 1 only

(tb: 1 and 3
(¢) 2 and 3
(d) 1 and 4

Which of the following statements is
the nearest definition of moral action,
according to the writer ?

{(aj It is a mechanical sction based on
official orders from superiors,

(b) It is an action based on our sense of

discretion.

(¢; It is a clever action based on the
clarity of purpose.

(d) It is a religious action based on
understanding.
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20.

. (b)

21.

f=affea 9 X oF-9/eH-9 $H oG
¥ TRl o1 gdfaw aofe a_ar gfeg & ?

1. ﬁ%ﬁgﬁﬁlﬁ%%ﬂ:ﬂﬂ#ﬁéﬁzﬁ
ygIT S 2 |

2. f&r fefa & ufd #9qw &t el
wiafeea &= oifze |

3. T B I Hasd B e HA A
Tiee |

4, it @ & o w= o S Y oras
wA # JAd A e | |

o e w g B gEEa A HE TR
g :

Fad 1
13K 3
2 3R 3
13R 4

(a)

(c)
(d)

des ¥ ygER, Frafefad ¥ ¥ e
Ty s P & Focaw aRumr € ¢

(@ T8 RS & AR ke =
amenfa gt w2 |

b) IE I Fde-ay w aneRa o 2 |

() TR I & goed R meiRa TR
A |

(d) I8 T9F W muRa afifs ga g |




22. The passage contains a statement “1ets}24.
himself be swept along like a log of;'
wood by a current.” Among the:
following  statements, which is/are
nearest in meaning to this ? |
1. A person does not use his own

reason.
2. He 18 susceptible to
influence’pressure.
3. He cannot withstand difficulties/
challenges. 125.
4. He s like a log of wood. |
Select the correct unswer using the codes
given below :
‘at 1 only
(b. 1and 2
ey 2und 3
(d; 1 and 4
26.

23. There are four envelopes, each carrying
a specfic address for each of the four
different letters. If the letters are
randomly put into envelopes, what is!
the probability that all the four letters
will be put into their respective
correctly addressed envelopes ? '
a; 1/30
‘b 1/24
(c; 1/18 ‘
od: 1/12

P-PFC L CGJB (14 - X))

What is
printed if a book containing 150 pages
is to be numbered from 1 to 150 ?

the total oumber of digits

ta} 450
{b} 360
{c) 342
tdi 262

The average of five consecutive numbers
is X. If the next two numbers are also
included, how shall the average vary ?

ia) It shall increase by 2

(by It shall increasc by 1-4

fc) It shall increase by 1}

{d)

It shall remain the same

Among A, B, C, D and E, E is shorter
than D but taller than B who is taller
than C. A is taller than E. If afl are
standing according to their heights and
we start counting from the tallest, who
would be fourth ?

{a; K
(b) C
{c) B
(d} Cannot be determined as the data

are insufficient
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~ (a) 1/30

P-PFC-L-CGJB

(b) 1/24
(¢) 1/18

(d 1/12

24, uﬁlS{)g%’ia?lgmmﬁl% 150 AP
P B

(15 - X )

T,
et wfa B o, A AR s & g

I fea=h anlt ?

(a) 450

() 360

(c) 342

(d) 262

. g wame Sl & dlwa X & 1 al

el & st 3k e o S, < st A
a1 uikadad &n ? '

(a) 9& 2 q¢ ML
(b) Y€ 1-4 dg¢ oM

(c) It 1dg e
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. ABCDTNEFIEDIBTUIERBA

AR B CATTEIAEQATTE |
afy Tef 3 T B IR @S 8 IR e
waite e A fired v & @ dter 3.
& ? '
(a) E
by C

(¢} B

(@) e sl € swfoe FeiRa =&

oo sm aaar




Directions for the following 4 (four) items :|27.

Read the following passoge and answer
the items that follow. Your answers to
these stems should be based on  the
passage only

Passage

A vountry under foreign domination
seeks escape from the present in dreams
of a vanished age, and finds consolation
in visions of past greatness. That is a
foolish and dangerous pastime in which
many of wus indulge. An  equally
questionable practice for us in India is to |
imagine that we are still spirftually
great though we have come down in the
world ' other respects. Spiritual or any |28.
other zreatness cannot be founded on

lack of freedom and opportunity, or on

starvation and misery. Many western
writers have encouraged that notion that -
Indians are other-worldly, I suppose the
poor and unfortunate in every countryi
becorn:e 10 some  extent other-worldly, |
unless they become revolutionaries, for |
this world ix evidently not meant for
them. So also subject pecples.

As a man grows to maturity he is
not entirely engrossed in, or satisfied
with, the wexternal objective world. He

secks aiso some inner meaning, some
psycholomical and physical satisfactions.
So also with peoples and civilizations as
they mature and grow adult. Every
civilization and cvery people exhibit [29.

these parallel streams of an external hfe
and an internal life. Where they meet or
keep ciose to each other. there is an |
equilibrium and stability When they
diverge confhet arises and the crises that
torture the mind and spirit.

P-PFC-L-CGUB 16 X))

The passage mentions that “this world is
evidently not meant for them” It rofers to
people who

L. seek freedom from foreign domination.
2. live in starvation and misery.

3. become revolutionaries.

Which of the statements given above
ws/are correct ?

ta) 1 and 2
(b} 2 only
{¢c) 2 and 3
(d} 3 only

Consider the following assumptions

1. A country under foreign domination
cannot indulge in spiritual pursuit.

2 Poverty is an impediment i  the
spiritual pursuit.

3. Subject peoples may become
other-worldly.

With reference to the passage, which of
the above assumptions is/‘are valid ?

ia.: 1 and 2

(b} 2 only
{cy 2and 3
(d: 3 only

The passage thematically centres on

(a)  the state of mind of oppressed pueople
‘b)  starvation and misery

¢} the growth of civilization

id. body, mind and spirit of people in
general
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30.

31.

32.

33.

According to the passage, the torture of
the mind and spirit is caused

a)
(b

by the impact of foreign domination.

by the desire to escape from foreign
domination and find consoclation in
visions of past greatness.

(c) due to lack of equilibrium between
an external life and an internal life.

(d)

due to one’s inability to be either
revolutionary or other-worldly

The average score of three boys in
Mathematics is 30. When the score of a
fourth boy 1s added to the total score of
the three boys, the average is lowered to
25. What is the score of the fourth boy ?

(a} 10

{b) 15
{c) 20
(d) 25

The sum of income of A and B is more
than that of C and D) taken together. The
sum of income of A and C is the same as
that of B and D taken together. Moreover,
A earns half as much as the sum of the
income of B and D). The highest income is
of

(a) A
(b} B
ey C
@) D

A walks 10 m in front and 10 m to the
right. Then every time turning to his
left, he walks 5m, 15m and 15m
respectively. What is his distance now
from the initial point ?

(a) 165 m
(b) 10m
{c) & m
{d) 3 m
P-PFC-L-CGJBR

36.

36.

37.

38.

{ 18 - X }

There are four routes to travel from city A
to city B and six routes from city B to city
C. How many routes are possible to travel
from the city A to city C ?

(a) 24
(by 12
(c) 10
(dy 8

A contract on construction job specifies a
penalty for delay in completion of the
work beyond a certain date is as follows :
T 200 for the first day, T 250 for the
second day, T 300 for the third day etc.,
the penalty for each succeeding day being
T 50 more than that of the preceding day.
How much penalty should the contractor
pay if he delays the work by 10 days ?

(a) T 4950
(b) ¥ 4250
(c) ¥ 3600
{d) T 650

Which one of the following fractions is the
largest ?

(a) 17/21
{by 11/14
(c) 5/6
(d) 4/5

A starts from a place at 7 AM with a
speed of 10 km per hour. B starts from
the same place at 9 AM with a speed of
15 km per hour. When will B meet A ?

(a) 1PM
(b)y 2PM
(cy 3 PM
(d) 12 Noon

In a month three Tuesdays were on even
dates. Then 21°t of the month is

(a) Saturday
(b) Sunday
(¢} Monday

(d) Wednesday




30.

31.

32,

33.
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39. A person has only ¥ 1 and ¥ 2 coins with
her. If the total number of coins that she
has is 50 and the amount of money
with her is ¥ 75, then the number of ¥ 1
and ¥ 2 coins are, respectively
(a} 15 and 35
(b} 35 and 15
(¢) 30 and 20
(d} 25 and 25

40. Three persons start walking together
and their steps measure 40 cm, 42 cm
and 45 c¢m respectively. What is the
minimum distance each should walk so
that each can cover the same distance
in complete steps ?

(a) 26 m 20 cm
{b) 50 m 40 cm
{c) 75 m 60 cm
d)y 100 m 80 cm

41. 1If a bus travels 160 km in 4 hours and
a train travels 320 km in 5 hours at
uniform speeds, then what is the ratio
of the distances travelled by them in
one hour ?

{(a) B:5
b; 5:8
fey 4:5
dy 1:2
P.PFC L-CGJB

43.

There are 100 students in a particular
class. 60% students play cricket, 30%
student play football and 109 students
play both the games. What is the
number of students who play neither
cricket nor football ?

(a} 25
(b) 20
(c) 18
(d) 15

A village having a population of 4000
requires 150 litres of water per head
per day. It has a
20m x 15 m X 6 m.
tank will last for

tank measuring
The water of this

(a) 2 days
(b) 3 days
(c) 4 days
{(dy 5 days

Directions for the following 4 (four) items :

{ 20 - X))

Read the following passage and answer
the items that follow. Your answers to
these items should be based on the
passage only.

Passage

A species that cxerts an influence
out of proportion to its abundance in an
ccosystem is called a keystore species.

The keystone species may influence both



39.

40.

41,
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the species richness of communities and

the flow of energy and materials through
The

ochrareus, which lives in rocky intertidal

ecosystems. sea star  Pisaster

ecusystems on the Pacific coast of North

America, is also an example of a keystone

species Its preferred prey is the mussel

Mytilus catifornianus. In the abwence of L

sea stars, these mussels crowd out other! 45.
a broad belt of the

intertidal sone. By consuming mussels, |

competitors in

seg stuar creates bare spaces that areL

taken over by a variety of other species. L

A study at the University of !
Washington demonstrated the influence of I
Pisoster on species richness by removingl
sea star< from selected parts of the
intertidal zone repeatedly over a periad of
five years. Two major changes occurred in
the arcas from which sea atars were
removed. Kirst, the lower edge of the|
mussel bed extended farther down into 46.
the intertidal zone, showing thal sea stars

are able to eliminate mussels completely

where they are covered with water most of
the time. Second, and more dramatically,
28 species of animals and algae:
disappeured from the sea star removal
Mytilus, the

dominunt competitor, occupied the entire

rone  Eventually only

substratum. Through its  effect on

competitive relationships, predation by
Pisast-r targely determines which species |

live in these rocky intertidal ecosystems.

( 22

X )

What is the crux of the passage ?
(a) Sea star hus a preferred prey.

(b) A preferred prey determines the
survival of a keystone species,

(¢c) Keystone species ensures species
diversity.

(d) Sea star is the only keystone species
on the Pacific coast of North
America.

With reference toc the passage, consider
the following statements -

1. Mussels are generally the dominant
gpecies in intertidal ecosystems.

2. The survival of sea stars is
gencrally determined by  the
abundance of mussels.

Which of the statements gsiven above
is/are correct ?

{a) 1 only

(b) 2 only

{c) Both 1l and 2

fd) Neither 1 nor 2

Which of the following iware implied by
the passage ?

1. Mussels are always hard

competitors for sea stars.

2.  Sea stars of the Paoific coast have
reached the «c¢limax of their
evolution,

3. Sea stars constitute an important
component in the energy flow in
intertidal ecosystem.

Which of the statements given above
is/are correct ?

(a} 1 and 2
(b} 2 only
{c) 1and 3
(d) 3 only
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JGH | A DIF-A/P-A HUT I qf6 ?

(a) 131k 2

(b) G 2

() 13K 3
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47. Con=ider the following assumptions :

1. The tood chamms/food web in an
ecosystermn are  influenced by
keystone spuecies.

2. The presence of keystone species is |
a specific characteristic of aquatic |
ecosystems. i

3. If the keystone species is completely .i
removed from an ecosystem, it will !
lead to the collapse of the!
eCosysberns. !

With reference to the passage, which of "

the above assumptions is/are valid ? i

|
iar 1 enly )

‘b; 2 and 3 only

fcy 1 and 3 only '

dy 1, 2 and 3 .

1
q
48. (Consider the following argument : |

“In order to be a teacher one must

graduate from college. All poets are poor.

Some Mathematicians are poets. No

college graduate i~ poor.” i

Which one of the following is not a

valid conclusion regarding the above

argument j

(a* Some Mathematicians are not’
teachers, :

‘b: Some teachers are not
Mathematicians.

tc; Teachers are not poor.

fd; Poets are not teachers.

{
P-PFC L CGJB ( 24

49.

50.

51.

X )

A student on her first 3 tests received

If she
exceeds her previous average score by
20 points on her fourth test, then what
is the the first
4 tests ?

N+ 20

N+ 10

N+4

N+5

an average score of N points.

average score for

{a)
b}
{cy
)

In a group of persons, 70¢ of the
and 30¢% of the

persons are married. If two-sevenths of

persons are male

the males ar¢c married, what fraction of
the females is single ?

{a; 2/7
(b) 1/3
(e 8/7
(dy 2/8
The houses of A and B face each other

on a road going north-south, A's being
on the western side. A comes out of his
house, turns left, travels 5 km, turns
right, travels 5 km to the front of D’s
house. B does exactly the same and
In this

following

reaches the front of (Vs house.
context, which one of thke
statements is correct ?

{a) C and D live on the same street.

(b} C’s house faces south.

(c) The houses of C and D are less
than 20 km apart.

(d) None of the above




47.

48.
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=g A | R dfswe

1. sRfefe-daa & aw-gEai/En
TS, G (HROH) Sier  wHfad
gl 8 |

9. PonEn (PreF) afa B IRl

fowan 2

3. gk =it oRferfoe-da 3 gaifeen
(@Brem) sfa & gofar ger & Fw,
a1 599 g% nRifoet-a7 foege e
g S |

wqd dwm v owed d, IR e

Argal/ARaane de #/& ?

(a) &aA 1

(b) &ae 2 3R 3

(c) ¥ad 131K 3

d 1,23R3

Rrefeias gt W fraR BT

"FeTE B B o S & EEd 2| -

amawas & | 9l 3 e @ § | ou
s o4 8 & | P Dot & TS
fref @i & 17

W ghs & way ¥ Preffed §
a1 v, du Prd & & 2

(a) TS TR eATS TE & |

(b) TE HeAWS VS el ¢ |

(c) 3rexnud e e |

@) o s T8 € |
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51.

A g aW el # B 'En @
Jia wdie N 36 & | af @' 3 d9iY
waor # fUoe sfva wais 9 20 3@
At o FRAT &, A 92 IR WEvl &
sraa wae Far € ?

{a} N + 20

(b) N+ 10

(c}) N+4

(d N+5

il & ' Tgg d, 70% @t oY §
3R 30% =fs fafea € | ol qoet &1
o/7 Wl fdaied &, o wigkewsht &
W fdared & 2 .

(a) 2/7 '

(b) 1/3

(c) 3/7
(d)y 2/3

JAR-STHT S OF WEH W IMHA-I A
W By WY, ol A &1 w ¥ iR
21 A3 R I IR IS, T g
2, 5 km Tl &, a¢ a1 8, 3R 5 km
Tl R D & R B AW Ugd ST 2 | B
NI WA FRMEIRCHI WS
R T S @ | g we o, Prefiaa
¥ ¥ P-4 vh $UF IGEr 8 P

(a) CIRDTS N Fdp WA & |
(b C& W & gE afdor H AR 2 |

(© Csﬂ?Dﬁmm-@%'ﬁzokm%

- BH QU R E |

L@ I A ¥ B A




Directions
items :

P-PFC.L-CGJB

for the following 5 (five)

Read the following passage and answer
the wems that follow. Your answers to
these [tems should be based on the passage
unly,

Passage

Now India’s children have a right
to recelve at least eight years of education,
Lthe gnawing guestion is whether ot will
remaln on paper or become a reality. One
hardly needs a reminder that this right
1+ different from the others enshrined in
the Constitution, that the beneficiary -
a s1x year old child cannot demand it, nor

can she or he fight a legal battle when

t™e right is denied or violated. In all cases,

it 1% the adult society which must act on
behalf of the child. In another peculiarity,
where a child’s right to education is
demied. no compensation offered later can
be adequate or relevant. This is so
because childhood does not last. If a legal
battle fought on behalf of a child is
eventually won, it may be of little use to
the boy or girl because the opportunity
missed at school during childhood cannot
serve the same purpose later in life. This

may be painfully true for girls because

our society permits them only a short

52,

(26 - X )

childhood, if at all. The Right

to

Education (RTE) has become law at a
point in India’s history when the ghastly
practice of female infanticide has
resurfaced in the form of foeticide. This
1s “symptomatic of a deeper turmoil” in
society which is c¢ompounding the
traditional obstacles to the education of
girls. Tenacious prejudice against the
intellectual potential of girls runs across
our cultural diversity and the system of
education has not been able to address

it.

With reference to the passage, consider
the following statements :

1.  When children are denied education.
adult society does not act on behalf
of them.

2.  Right to Education as a law cannot
be enforced in the country.

Which of the statements given above
is/are correct ?

{a) 1 only

{(b) 2 only

{c) Both 1 and 2
(d) Neither 1 nor 2




P-PFC-L-CGJB

FrafeiRae 5 (qre) gerel & fore AT -

e e e & I} @ | 57 FeEn &
> FOR dac] @i W & IrRka g
aiee |

af B frer e W @ ARER W
X a7 dede W v & B own
a8 AR Pad oA ab G| <&m
ST ARAfiEA B B A WO | AE A
Rar & o & s ¢ 5 uE IR
HRem N wroiia g sfeRl ¥ e
¢ wifs swe awRl - P15 o g
g/ A @ gEd W R awad &,
7 9 59 afUeR 3 dia @ JrEr g
e BR W SR el A5 [edl/d
& | el Awel ¥, 9 TONS WIS @ 8
B T B AR ¥ oA &< anh |
) facdeor g g € 5 o W §=
a1 Bran % sfer ¥ 4w o s &,
dq o § fear @ W gamEsn 3 A
Tt T & wikifie & wosar & | e gafere
¥ fp acaaen & T8 W@ | gk fSH
MNa f o I &, a@ 9 UE 39 dod
a1 e ¥ fe B om & & &
R aTcaEen # fau@y & 5 3EER @
e dal &, 98 o H I& & 9N |

52,

(27 - X}

N weE & for em T8 s WHar |
I8 TE W9 ¥ aieenlt & fu aveaar
3, oft ey 9 &, o s SR

B e g ad e § Ren &

mﬁmmﬁ%ﬁlmmw
foar 2, T g A Ry g @ o
W HUT Bl & €9 F GF IR I IE
g | o8 9 # R faely &1 que”
? & afwent & fer § 3= Qe
wRAE Tt & T e 3@ 3R @
w ¢ | atrent & A awa & o
v AR e FR T ARl fatawr

¥ e & e e WOTeN §9 gX @} UM

¥l W e

araier 3 Gaf §, FreiiRa wol | RER

5w

1. 9 ot @ fen ¥ dfva war s 2,
TG TS FH AR Y Py FEAAR
& AT )

2. 2w ¥ Rren @ after fafy & wv A
wyafia =& Rear 0 W& |

T % ¥ B WA s w2

(a) ®act 1

Coqd) A 13RAE 2




53. According to the passage, what could be f55.
the  traditiona!  obstacles to  the
educat:on of girls ?

1. Inability of parents to fight a legal
battle when the Right to Education
1s denied to their children.

2  The traditional way of thinking!
about girls’ role in society.

3. The prejudice against the
intellectual potential of girls. |

4. Improper system of education. ‘

Select the eorrect answer from the codes

given below - !

ta)r 1 and 2 only f

‘b 2, 3 and 4 onty

fer 1,3 and 4 only r

56.

(dy 1,2, 3and 4

54. On the basis of the pussage, consider the
following statements :

1. Right to Kducation i« a legal right and
not a fundamental right.

2. For realising the poal of universal
education, the education system in the
country must be made 1dentical to that
of developed countries. /

Which of the statements given above

1s/are correct ?

‘a: 1 only

thy 2 only

'c; Both 1 and 2

fd} Neither 1 gor 2 _

P-PFC L-CGJB ( 28 - X )

Which one of the following statements

conveys the key message of the
passage ?
{a} India has declared that education is

compulsory for its children.

(b} Adult society is not keen on
implementing the Right to
Education.

(c) The Right to Education, particularly
of a girl child, needs to be
safeguarded.

(d) The system of education should
address the issue of Right to
Education.

Which one of the following statements
conveys the inference of the passage ?

The
prejudice against the intellectual

socicty has a tenacious

(a)
potential of girls.

(b) Adults cannot be relied upon to
fight on behalf of c¢hildren for their
Right to Education.

(¢} The legal fight to get education for
children is often protracted and
prohibitive,

(d) There is no sufficient substitute for

education received in childhood.
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56.
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Read the following passage and answer
the 3 (three) items that follow :

A, B, C, D and E are members of the
same family. There are two fathers, two
sons, iwo wives, three males and two
females. The teacher was the wife of a
lawyer who was the son of a doctor. E is
not a male, neither also a wife of a
professional. C is the youngest person in
the family and D is the eldest. B is a

male.
57. How is D related to E ?

(a} Husband

(b} Son
¢}  Father
idl Wife

58. Who are the females in the group ?

{(a; C and K

‘b; Cand D
{¢. K and A
(d) D and E

59. Whose wife is the teacher ?

{a} C
{b;y D
(c; A
(d) B

Read the following passage and answer
the 3 (three) items that follow :

In a survey regarding a proposed
measure to be introduced, 2878 persons
took part of which 1652 were males. 1226
persons voted against the proposal of
which 796 were males. 1425 persons voted

for the proposal. 196 females were
undecided.

60. How many females voted for the

proposal ?

(a) 430

(b) 600

(c)y 624

(d) 640

61. How many males were undecided ?

{a) 31

(b) 227

{c) 426

(d) 581

62. How many females were not in favour of
the proposal ?

(a) 430
(b} 496
(c) 686
(d) 1226

63. In a queue, Mr. X is fourteenth from the
front and Mr. Y is seventeenth from the
end, while Mr. Z is exactly in between
Mr. X and Mr. Y. If Mr. X is ahead of
Mr. Y and there are 48 persons in the
queue, how many persons are there
between Mr. X and Mr. Z ?

(a) 6
by 7
(c) 8
(d) 9

P-PFC-L-CGJB (30 - X}




frfie i @) affe sik e vva Re
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57.

58.

99.

P-PFC-L-CGJB

A,B,C,DW E & & URIR & T
g1 & R & & o & & ofet €, &
gou ¢ 3k & fedt & | sreoitie v It
@ UeT €, 9 O TS Sidek & TA ¢ |
E 758 981 & 3R 7 & a8 6 eay &
o & | qRaR & C 9% &9 37 &1 & 3k
DHRA SELE I BT RET |

D& E Far wa g P

(a)
(b)
E 3R A
D3IRE

(c)
(d)

freat oot STEZTI'IﬁEﬂ % ?
(a) C

(by D

() A

(d B

-1 31 - X))

60.
(a)
61.

62.

63.

7w 3 (ai) geen & v dow -

Rl o SRR ST B Y
¥ of 39 R o e ve wdaor F 2878

et 3 fexan R B 1652 wou 3 |

1226 @fpdl 3 waE & foog ma fan,
formt & 796 9 & | 1425 =Redl A W@
& ver # wa foar | 106 ferdf sl off |
fosa ferl 3 w=ae & uer # #a fean @
430

(b) 600
{(c) 624

(d) 640

T gow aifoia & »

(a) 31

(b) 227

(c) 426

(d) 581

ﬁb—cF?r e wara & ver o E o ?
(a) 430 '
(b) 496

() 586

(d) 1226

& ifes d, Mm X9 ¥ 149 _F )
# ok frE Y 3 ¥ 178 v ) #, 76t
A Z, e X 3R AWE Y & S weg A
g | M X ol A= Y & am € 3R 9
% pot 48 Tftp &, A HwH X iR M 2 5
éﬁaﬁmﬁmﬁﬁ%?

(a)
(b)
(¢}

6
7
8
d 9




Directions for the following 9 (nine)!66.
tlems : ‘

64.

65.

P.PFC L -CGJB

The followng nine iterns ‘Questions 64 to
7¥. are based un three passages in
English tu test the comprehension of |
Englhish  languoge and therefore these §
items do not have Hindi version. Read
vach passape and answer the tems that
frdlonn,

Passage-I
He walked several miles that day but
could not ger anything to eat or drink

except some dry bread and some wuter,

which he got from cottagers and farmers.

l
A~ night fell, he slept under a haystack'
bving in @ meadow. He felt frightened at

first, for the wind blew awfully over the!
|

was feeling more ionely than he had ever |

empty fields. He felt cold and hungry. and

falt pefore. He, however, soon fell asleep,
wilk.
When he got up next day, he was feeling

being much tired with his ong
rerribly hungry so he purchased a loaf of

bread with a few coins Lthat he had.

When the might fell, he slept
-a:  m Lhe vpen field

tb:  under a pue of dry grass
¢ m a farmer's cottage

d. under a tree

He soon fell asleep becuuse |
ta; he was exhausted |
by he was all alone

. he bad not slept for day~

d: be was very frightened

{ 32

X )

With reference to the passage, consider
the following statements |

1. He

rountryside,

was  walkmg through the

2. The cottagers and farmers gave him
cnough food so that he couald sleep
at night without feeling hungry.

Whichk of the
is/are correct ?

statements  given above

{a} 1 only

{b) 2 only

{¢) Both 1 and 2
{d} Neither 1 nor 2

Passage-11
|l opened the bag and packed the
boots in; and then. just as I was going to
close it, a horrible idea occurred to me.
Had 1 packed my toothbrush ? [ dont
but I never do kKnow

know how it Tin,

whether I've packed my toothbrush.

My toothbrush is a thing that

haunts me traveiling, and

when Fm i,
makes my hfe a misery. | dream that I
haven’t packed :it, and wake up in a cold
perspiration, and get vut of bed and hunt
for it. And, ip the mornmg, I pack it before
I have used 1t, and it is always the last
thing T turn out of the bag; and then 1
repack und forzet it. and have to rush
upstairs for it at the last moment and
carry it to the raillway station, wrapped up

in my pocket-handkerchief.




et 9 () weiel & e A -

64.

65.

P-PFC-L-CGJB

f=ifefaa 9 (FY) geier (werer 64 & 72)
30sf & T ergren o) smenRa & iR sias
T & qeT & oeor & foe & 1 s g
serel &1 < g T Rar s a1 @/
ye® SEreT qier e ffoRRaa geen &
% Mo |

Passage-1

He walked several miles that day but
could not get anything to eat or drink

. except some dry bread and some water,

which he got from cottagers and farmers.
As night fell, he slept under a haystack
lying in a meadow. He felt frightened at
first, for the wind blew awfully over the
empty fields. He felt cold anrd hungry, and
was feeling more lonely than he had ever
felt before. He, however, soon fell asleep,
being much tired with his long walk.
When he got up next day, he was feeling
terribly hungry so he purchased a loaf of
bread with a few coins that he had.

When fhe night fell, he slept
(a) in the open field

(b) under a pile of dry grass
(¢) in a farmer’s cottage

(d) under a tree

He soon fell asleep because
(a) he was exhausted

{b) he was all alone

(c) he had not slept for days
(d) he was very frightened

66.

(33 - X))

With reference to the passage, consider
the following statements :

1. He
countryside.

was walking through the

2. The cottagers and farmers ga\;e him
enough food so that he could sleep
at night without feeling hungry.

Which of the statements given above
is/are correct 7

{a) 1 only

(b) 2 only

(¢) Both 1 and 2
(d) Neither 1 nor 2

Passage-Il

I opened the bag and packed the
boots in; and then, just as I was going to
close it, a horrible idea occurred to me.
Had I packed my toothbrush ? I don't
know how it is, but I never do know
whether I've packed my toothbrush.

My toothbrush is a thing that
haunts me when I'm travelling, and
makes my life a misery. I dream that I
haven’t packed it, and wake up in a cold
perspiration, and get out of bed and hunt
for it. And, in the morning, I pack it before
I have used it, and it is always the last
thing I turn out of the bag; and then I
repack and forget it, and have to rush
upstairs for it at the last moment and
carry it to the railway station, wrapped up
in my pocket-handkerchief.




67. When he was going to close the bag, the
idea that occurred to him was
‘a' unpleasant
{b; sad
{¢i fantastic
fd: amusing

68. What makes his life miserable whenever
he undertakes travelling ?
fa, C(roing to railway station
tbi  Forgetting the toothbrush
{2y Packing his bag
'd: Bad dreams

69. His toothbrush s finally
‘a. in his bag
‘b, in hix bed
¢ in hix handkerchief
d, lost

Passage-I11

In spring, polar bear mothers emerge from
dens with three month old cubs. The
mother bear has fasted for as long as eight
months but that does not stop the young
from demanding full access to her
remaining reserves, 1f there are triplets,
the most persistent stands to gain an
extra meal and it may have the meal at
the expense of vthers. The smallest of the
Iitter forfeits many meals to stronger
siblings. Females are protective of their
cubs but tend to ignore family rivalry over
food. In 21 years of photographing polar
bears, I've only once seen the smallest of
triplets survive til] autumn.

P-PFC L CGJB

70.

71.

72.

({34 - X}

Female polar bears give birth during

{a} spring
(b} summer
(c) autumn
{(d) winter

Mother bear

{a) takes sides over cubs

(b} lets the cubs fend for themselves

{c) feeds only their favourites

{d) sees that all cubs get an equal share
With reference to the passage, the

following assumptions have been made :

1. Polar bears fast ax long as eight
months due to non-availability of

prey.
2. Polar bears always give birth to
triplets.

Which of the assumptions given above
is/are valid ?

(a) 1 only

{b) 2 only

(cy Both 1 and 2
{d) Neither 1 nor 2




67. When he was going to close the bag, the [70.
idea that occurred to him was
(a) unpleasant
(b) sad
(¢} fantastic
(d) amusing
68. What makes his life miserable whenever
" he undertakes travelling ? 71.
(a) Going to railway station
(b) Forgetting the toothbrush
(¢) Packing his bag
(d) Bad dreams
69. His toothbrush is finally
{a) in his bag
(b} in his bed
- _ 72.
(¢) in his handkerchief
(d) lost
Péssage-m
In spring, polar bear mothers emerge from
dens with three month old cubs. The
mother bear has fasted for as long as eight
months but that does not stop the young
from demanding full access to her
remaining reserves. If there are triplets,
the most persistent stands to gain an
extra meal and it may have the meal at
~the expense of others. The smallest of the
litter forfeits many meals to stronger
siblings. Females are protective of their
cubs but tend to ignore family rivalry over
food. In 21 years of photographing polar
bears, I've only once seen the smallest of
triplets survive till autumn. '
P-PFC-L-CGJB {35 - X}

Female polar bears give birth during

(a) spring
(b)

summer
{¢) autumn

winter

(d)

Mother bear

(a) takes sides over cubs

(b) lets the cubs fend fbr themselves

(c) f{_aeds only their favourites

(d) sees that all cubs get an equal share

the
following assumptions have been made :

With reference to the passage,

1. Polar bears fast as long as eight
months due to non-availability of

prey.

2.. Polar bears always give birth to
triplets.

Which of the assumptions given above
is/are valid ?

(a) 1 only
(b) 2 only
(¢) Both 1 and 2

(d) Neither 1 nor 2




Directions
items :

73.

P-PFC L-CGJB

the

for

following 8 (eight)

(fiven below are eight items. Rach item
describes a situation and s followed by

the

four possible  responses. Indicate

response  you  find  most  appropriate.
Chouse only ore response for cach item.
The responses will be evaluated based on

the lerol of opuropriateness for the given

2

sifuation.

Please attempt all the items. There is
no penalty for wrong answers for

these eight items.

You have been asked to give an
explanation  tor  pat attending an
important official meeting. Your
immediate hoss whe has not ‘nformed

you about the meeling 18 now putung

pressure on you not  to place an

allegation agarnst himdher. You would

a  send u written reply explaining the

tact .

ih, sech an appointment with the top
buss tu expiain the situation,

‘¢, admit  your fault to save the

situation ;

1

td: put  the responsibility on t:he‘

coordinator of the meeting for not:

informing. ‘
|

{ 36 -

74.

75.

76.

X )

A local thug {bad element. has started
illegal construction on your vacant plot.
He has refused your reguest to vacate and
threatened you of dire consequences in
case yuvu do oot sell the property at a
cheap price to him. You would

fa) scll the property at a cheap price to
him.

fb) gu to the police for necessary action.

tc) ask for help from your aneighbours,

{d) nepgotiate with the goon to get a

higher price.

You have to accompiish a very mmportant
task for your Headguarters within the
next two days. Suddenly you meet with
an accident, Your office insists that you
complete the task. You would

{a) ask for an extunsion of deadline.

tb) inform  lleadguarters of your
inability to finish un time.

{c} suggest alternate person to
Headquarters who may do the
needful.

fd} stay away til! you Ttecover

You are an officer in charge for providing
basic medicai facibities to the survivors of
an earthquake aflfected area. Despite your
best possible effort, people put allegations
against you for making money out of the
funds given for relief You would

ta’  let an enguiry be set up to look into
the matter,

‘br ask your seuior ‘o appuint some
other person tn your place,

{c} mnot pay attention o ajlegations.

{di stop undertaking any initiative till

the matter is resvlved.
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You have veen made responsible to hire
boat= at a short notice to be used for
an area  under
price mentioned by the boat owners you
that  the
approxymately three times more than
the

You

found lowest price was
approved rate of the Government.

would

@ repedt the proposal and call for a

tresh price.

(b) accept the lowest price.

{c; refer the matter to the Government

and wait.

'd: threaten the boat owners about a

pussible cancellation of the licence.

Yuu are the officer-in-charge of a vllage
admimisterng distribution of vacemne in
=olated and
seft
Taere 1= 2 requirement of that vaccine
the Gram Pradhan and
poor villager You are being pressurised
by Uram Pradhan to the
vaceine te him, You would

an epidemic hit willage,

YUl dre with only one vacane.

from also a

the issue
‘at inetitate Lthe procedure to expedite
the next supply without issuing the

viecine Lo either.

‘b arrange vaccine for the poor villager

from the distribuator of another area.

‘¢ ask both to approach a doctor and
et an input about the urgency

‘d* arranpe vaccine for the Gram
Pradhan from the distributor of
another area.
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You have taken up a prgject to create

night-shelters for  homeless  people
Within a
week of estabhshing :he shelters, you
the

residents of the arva about the increase

during the winter secason.

have received complaints from

in theft cases with a demand to remove
the shelters. You would

(a) ask them to ‘odge a  writier
complaint in the police station.

(b} assure residents of an enquiry into
the matter.

{c) ask residents to consider the
humanitarian c¢ffort made

(d) continue with the project and ignore
their complaint

You, as an administrative authority,

have been approached, by the

daughter-in-law of an :nfluential person
regarding harassment by her in-laws on
of Her
parents are not able o approach you

account insufficient dowry.

because of sociul pressures. You would

{a} call the in laws for an explanation.

{b} counsel the lady to adjust, given
such a circumstance.

{c) take action after her parents
approach you.

(d) ask her to lodge a complaint with

the police.
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